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title page of the answer-book.
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e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 29 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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ECONOMICS
eiRa a7 : 3 a2 37ferhar 37 : 100
Time allowed : 3 hours Maximum Marks : 100
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Q=T 3397 :
G) gl @vel & @4t yeT AT & |
(i) U9 I97 & [HEIRT 3% 349 qrgd R 1 §

(iii)  T97 G&IT1 - 3 TUT 15 - 19 371a TLHRIHE 97 &, 5770 J% H7 1 375 8 |
59T Yo &1 I Uk JTaFT H 57 37957 8 |

(iv) To7 G&IT 4- 8 37K 20 - 22 TLHIHE 97 8, [5770 T35 & 3 3% & |
Jed%h &1 I GIHTIT: 60 Isq] & 37fer 787 17 w5y |

(v) I TEIT9 - 10 37K 23 - 25 Y} TLHRIHS 97 &, 15777 I4% & 4 3% & |
e T I GHTE: 70 VI5e] & 37fere 787 8141 =iey |

(vi) 97 G&IT 11-14 3R 26 - 29 FI5 ITIcHS 97 &, 578 I9% & 6 3%
g | Y 7 I GrETa: 100 5] & 3718 787 8147 FifeT |

(vii) I GIET TIT FIIHSF &7 TNRT TIT IIEYTT FT &1 T Iog a7 & SFld
&7 few S Tifw |

General Instructions :
(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iii)) Questions No. 1 - 3 and 15 - 19 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Questions No. 4 -8 and 20 - 22 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Questions No. 9 — 10 and 23 - 25 are also short-answer questions

carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 11 - 14 and 26 - 29 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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wus A
SECTION A

1. 3 a%g Y $ma § gig ¥ a&g X hl A1 gt g, al gHl awgail & g I8
ey g : (T8 fashew i) 1
(31)  wfaeerdt

(@) T
(@) wwafaq TEl
() U @1y gim <t S areft

If with the rise in price of good Y, demand for good X rises, the two goods
are : (Choose the correct alternative)

(a)  Substitutes

(b)  Complements

(c) Not related

(d)  Jointly demanded

2. T UMK hadl &l I ol UM ST 7 | I g § Th a%q shl hidd
it 8, a1 srafem ash : (T fashew ghw) 1

() FIWH AR Fggerar 2

(&) <t I fggera B

(@) W AR F=2 A AR Raus ghar 3
(3) & fawhat &

A consumer consumes only two goods. If price of one of the goods falls,
the indifference curve : (Choose the correct alternative)

(a)  Shifts upwards

(b)  Shifts downwards

(c) Can shift both upwards or downwards
(d)  Does not shift

3.  ‘hHgTH ITAINGT ¥ FAT I 7 ? 1
What is ‘ordinal’ utility ?
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4., ‘g9 fyem AfE &1 uRdE rdegaten & 3IcUTed WHEAT g T FT qTE

T 3 Rl 2

AT
IRA | §¢ ¥ T Tocefl ISf o ST & IcUTeT AT J5h T 1 THIE T8 hi
GYTeHT 8 3T = 2 3

What will be the impact of “Education for All campaign” (Sarv Shiksha
Abhiyan) on the Production Possibilities Curve of the Indian economy
and why ?

OR

What will likely be the impact of large scale inflow of foreign capital in
India on Production Possibilities Curve and why ?

5. Teh UK I0TR | BHT shl §&IT HIfHd B4 T Ul THTST | 3

Explain the cause of limited number of firms in an oligopoly market.

6.  AfUehan shima Fuftor @ @ Al 8 2 A= 39 fohe R i aegsti W
T STl @ 2 {1 39AnT hifu | 3

What is maximum price ceiling ? On what type of goods is it normally
imposed ? Use diagram.

Tz : eI o7 HacT givgia Gaeimiafal & o7g 397 &7 6 & €7 W& |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 6.

JTf¥eRaw hmd YR 3R =Eaw hmd gl o = T awesy | 3

Explain the difference between maximum price ceiling and minimum
price ceiling.

7.  9fd 1 HWd AR h AY ok AT IS 99-I9% (plus sign) HT AT H AT I
Hd = & "9 % 919 9% (minus sign) & ST BT @ ? HHEATST | 3
Why is minus sign attached to the measure of price elasticity of demand

of a normal good in comparison to the plus sign attached to the measure
of price elasticity of supply ? Explain.
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(el aN o

8. RV §dId gY, MHfcTRad dfeteht W STETRA IcqTeH HWIEHT dsh o 3ThR T

ﬁ:ccrffﬁ‘ﬁﬁ?: 3
T X (3519 TG Y (3HE)
0 10
1 9
2 7
3 4
4 0

Giving reason, comment on the shape of Production Possibilities Curve
based on the following table :

Good X (units) Good Y (units)
0 10
1 9
2 7
3 4
4 0

9. U IUYRAI T a&q W, fgehl hmd T 1 9fd 518 8, T 60 T Ll @ | 99
SHd 100 Ifawd 5i¢ St 8, 98 99 i T 60 & = w=ar g | gfawa fafer gra
I bl ShiHd AT Bl Uiehedd <hIfSTT | 4

A consumer spends ¥ 60 on a good priced at ¥ 1 per unit. When the price
rises by 100 percent, he continues to spend ¥ 60 on the good. Calculate
the price elasticity of demand by percentage method.

10. YA & 1 ARIR g ? Tehrilehl WA 1 Teh a&g i YA T T aTell

THTS THHATSY |
T
qfd @ 9fiEds & F1 AMHIE B ? Tk ag W H M 1 3Teh! I(d T T8
AT THTS FHEATST | 4
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What is supply ? Explain the effect of technological progress on supply of

a good.
OR

What is ‘change in supply’ ? Explain the effect of tax imposed on a good
on the supply of the good.

11. Uiadt TguTdl & f=om & $at 3cured & gl ¥ fafte =wor s | g =

o WS HR0 W T | W@t 1w SN | 6

What are the different phases in the Law of Variable Proportions in
terms of Total Product ? Give reasons behind each phase. Use diagram.

e : HETferiad F97 Fac giggia ahemiaal & fog Jo7 G 11 & T W& |
Note : The following question is for the Blind Candidates only in lieu of
Q. No. 11.
Teh HEATHS 3GTEL hl TERIAT | qiadi 3TdTdl o 90 &% $a IcueT &
ey ¥ fafis =1 9qr3e | I = & 98 i off S | 6

State, on the basis of numerical example, the different phases in the
Law of Variable Proportions in terms of Total Product. Give reasons
behind each phase.

12. T 9% 1 SR 9gad H & | 9&g sl 7 # ‘hg’ &1 Il 8 | 39 IRaad
HROT B ITCT TWTET hl @A TS | 6

Market for a good is in equilibrium. There is ‘increase’ in demand for the
good. Explain the chain of effects of this change.

13. T IUURHI hadl G IEGAT 1 IUUMT LT &, T hi hAd Teh FIAT Ul
TS & | Al IUHIHT ST aeqat o1 UET EAN AT B ekt g gfoeemm
T 27, A FA1 ITHIH e H B 2 SO Y | wwensy UE feufa § uw

fararshl IUNIRT SR=—IT ShUTT |

HAAAT

T IUNIRAT had af aegall X 3R Y 1 IU9M Ll 7, Tl 6Hmd A
T 2 3R T 19 SIS & | IS IUNIRKT GHT a3l 1 UHT AW a1 & Toaw
X 61 €t IuNfrar 4 3R Y 1 off 4 8, A1 11 3U9RA Sgad H ® 2 RO
AT | gwemse U foufa # weh ot suvR s s | wima e
foreetwr 1 I9ERT HIRT | 6
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A consumer consumes only two goods, each priced at Rupee one per unit.
If the consumer chooses a combination of the two goods with Marginal
Rate of Substitution equal to 2, is the consumer in equilibrium ? Give
reasons. Explain what will a rational consumer do in this situation.

OR
A consumer consumes only two goods X and Y whose prices are ¥ 2 and
T 1 per unit respectively. If the consumer chooses a combination of the
two goods with marginal utility of X being 4 and that of Y also being 4, is
the consumer in equilibrium ? Give reasons. Explain what will a rational
consumer do in this situation. Use Marginal Utility Analysis.

14. T 3cd1Geh hi T hi Ial o HID dehigR UTEY | 6

Explain the rationale behind the conditions of equilibrium of a producer.

Qus d
SECTION B

15. 3 9d q@ad & W 9 faesht gg1 a&dt gl g, 9 T 39 W I8 I9E
U+ i UTEAT B : (Fd fashew ) 1

() HhNRIcHS

() hRIcHsh
(B) TIIcHS d THNIHS gl
(3) I3 99 T

Other things remaining the same, when foreign currency becomes
cheaper, the effect on national income is likely to be : (Choose the correct

alternative)

(a)  Positive

(b)  Negative

(c) Positive and negative both

(d) No effect

58/2/3 7 P.T.O.
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16.

17.

18.

58/2/3

TEHR] S § TATHeh H1eT $8h sk g : (F@ fashey gin) 1

(31) = YT

o SIS YITdTH — 39N

C)
(") SYUN — a1 YdH
(3) I | ¥ HIE A

Primary deficit in a government budget equals : (Choose the correct
alternative)

(a) Interest payments
(b)  Interest payments less borrowings
(c) Borrowings less interest payments

(d) None of the above

STH 4 hiH-9T TS =39 & ? 1
(1) e e

() SuR

(=) i wgral

(3)  f st ® =

Which one of these is a revenue expenditure ?
(a)  Purchase of shares

(b)  Loans advanced

(c) Subsidies

(d) Expenditure on acquisition of land

@y |1 % HIS Q@ U<k Fdrsy | 1

Name any two components of ‘aggregate demand’.

8
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19. I €\ 3TN YG[ = 0, 70T I oI I8 &M - (Fa! fasheq ) 1
(1) o0
@ 1
(@) 03N 1% =
() o

If MPC = 0, the value of multiplier is : (Choose the correct alternative)
a 0

(b) 1

(c) Between 0 and 1

(d) Infinity

20. YW Gged o@l § WRM (W) oFed 3R RS gq oFed % 31

AT |
HAAAT

YA FgeH o@l § SR T 3R S @ 9gaq o o7 Jarsy | 3

Give the meanings of ‘autonomous’ transactions and ‘accommodating’
transactions in the Balance of Payments Accounts.

OR

Give the meanings of Balance of Trade and Balance on Current Account
of Balance of Payments Accounts.

21. N 514 §Y HULATET foh aH Hged e § faewt i fean wan gF e o
[ERIES GRS 3

Giving reasons explain where charity to foreign countries is recorded in
the Balance of Payments Accounts.

22. IR IEAlaeh Tha I 3cq1g T 250 B IR hiAd FIhieh (IR = 100)
120 &, q1 Hifgeh Tehcd <M IcITE ohT IRehar shifvTT | 3

If the Real Gross Domestic Product is ¥ 250 and the Price Index
(base = 100) is 120, calculate the Nominal Gross Domestic Product.
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23. BH UHT Fi had & (o ATV Soh HgT 1 ol hid @ Saich g4 I8 W had 3
Top Tt I S T THATT T(URR heelF Soh bl & ? THSATSY | ITUST Sehl
SR HgT G ol TP AT T R YHTE T8 hl GHEAT § 2 4

Why do we say that commercial banks create money while we also say
that the central bank has the sole right to issue currency ? Explain.
What is the likely impact of money creation by the commercial banks on

national income ?

24. U AHTEAT qe § g | Fefifiad & o 39w o1 aitehad hif 4
TS 3T = 1,250
i = Y4 = 0-2
e =3 = 150

An economy is in equilibrium. Calculate Autonomous Consumption from

the following :
National Income = 1,250
Marginal Propensity to Save = 0-2

Investment Expenditure = 150

25. G S I THR HT 6k 1 THIATST |
AYAT
S5 S T ‘SRl I Sk I THST | 4
Explain ‘Government’s Bank’ function of the central bank.
OR

Explain ‘Bankers’ Bank’ function of the central bank.
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26. ‘THRR AU ¥ FAT AT & ? ST Fohal HiY AT I 39 TRl ¢

T H qHeRT THHATST |
toran
‘HATE 7T W FAT WA B 2 3H IR Hl QB H A wreh rvans
1 Y[k HHSATSY | 6

What is ‘inflationary gap’ ? Explain the role of Cash Reserve Ratio in

removing this gap.
OR

What is ‘deficient demand’ ? Explain the role of ‘Margin Requirements’

in removing this gap.

27. THIGHRT 3R JThifenrl TGl § T84 § SRRl a9ie hl i auemst | 6

Explain the role of government budget in fighting inflationary and
deflationary tendencies.

28. WU FAId §T FHIATEY foh TR T I AW A T MR o |1

FIT FagR femam ST =nfauT - 6

(i) T BH gl fm & 1 g
(i) U HREH g &I ITAN & fo7u wef wliean
(iii) Tk faforcaTar gRI 4t < T e wlie

Giving reasons explain how should the following be treated in
estimation of national income :

) Payment of corporate tax by a firm
(ii1)  Purchase of machinery by a factory for own use

(iii) Purchase of uniforms for nurses by a hospital

58/2/3 11 P.T.O.
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29. SRS W o TEE 3are’ 3R T TP YIS R UiEh{ard hifrg

() focEi A free wrE o
(i)  facer i faa = geama
(iii) ~ oT=c Yoft ST ITHM

(iv)  HH=TRET 1 Tieafies

(v) fom s

(vi) Afqara @

(vi)) &I

(viii) fertr

(ix) oHT

(x) Taa s

(xi) HHATET GRT HTHTISh L&A ITEH

Calculate Net National Product at Market Price and Gross National

Disposable Income :

(1) Net factor income to abroad

(i1))  Net current transfers to abroad
(iii) Consumption of fixed capital
(iv) Compensation of employees

(v)  Corporate tax

(vi)  Undistributed profits

(vii) Interest

(viii)) Rent

(ix) Dividends

(x)  Net indirect tax

(xi)  Social security contributions by employees
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